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1. Write your Roll No. on the top immediately on receipt of this question
paper.

2. All questions carry equal marks, l5 marks each.

3. Attempt any five questions.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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Analyse the macroeconomic developments in India since 2007-08. Discuss the
key policy challenges for achieving high growth of Indian economy?
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"Evidence from Bombay and Jamshedpur mills suggests that the creation of a
disciplined industrial labour force in India was not particularly difficult. If there
were differences in the workforce behaviour, these flowed from employer policy
and not from kinship, caste and rural links of the industrial labour force". Discuss.
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3. "lt was not commercialization but technical stagaation, poor resource endowment

and structure ofland rights that led to a prolonged period of agricultural stagnation

in India". Do you agree? Give reason in support of your answer.
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4. Discuss the key policy issues for achieving more inclusive, faster and sustainable

agricultural growth in India.
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5. Examine the industrial performance in India since 1991. Do you think that economic

reforms have delivered expected results in promoting faster output and

employment growth in India? Discuss.
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6. How far the Competition Act of 2002 is different and superior to the MRTP Act.
Discuss in detail.
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"There is certainly no clear superiority ofprivate vis-a-vis public ownership from
the standdoint of economic theory; it is rather degree of competition which
matters". Discuss.
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8. "service sector in India has exhibited phenomenal growth in employment, trade

and capital flows". In this context explain the overall performance of the India
Economy in the post economic reform period.
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